ECE 320 - Quiz #7. Name

SCR, Op-Amp Circuits, March 1, 2018

1) For the following AC to DC converter (equal to an SCR with a firing angle of 0 degrees), determine the voltages at
V1 and V2.

note: The DC voltage for the SCR circuit below is:
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2) Assume the SCR's have a firing angle of 70 degrees. Determine the voltages at V1 and V2.
note: The DC voltage for the SCR circuit below is:

Vavg ~ (HC:M)) ’ VP
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3) Determine the firing angle and L and C so that the following circuit has

+ A DC voltage at V2 of 20V
«  An AC voltage at V2 of 2Vpp when C=0
+ An AC voltage at V2 of 1Vpp when C>0

Note: The DC voltage for the SCR circuit below is:

Vavg ~ (HC;Sd)) ) VP
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4) Write the voltage node equations for the following op-amp circuit

oV e ~
+10V -
1k
v 1M
Vi A 1k
1k
2k V2
N, N 1o Ne-Va
et T )
e \\e 2k
Moo Npewr o NamYy
feny Q% jolk
Ny-V3 '\/‘%«@ Nu
U S S S
e Y e lok
Na =

Qooo(0-V3)




5) Assume an ideal op-amp. Write the voltage node equations for the following circuit:
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